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QUESTION 1

Which two statements accurately describe VRRP? (Choose two.)

A. The master VRRP router sends periodic announcements to all other VRRP routers in the group.
B. You can set the value of the TTL field for VRRP packets.

C. VRRP routers communicate using multicast address 224.0.0.5.

D. Each VRRP group uses a single MAC address.

Correct Answer: AD

QUESTION 2

You have both IPv4 and IPv6 running in your network. You are asked to migrate your IGP from IS-IS to OSPF. The
network must retain OSPF connectivity between all routers. Which statement is correct?

A. You must use OSPFv2 on all your routers.
B. You must use OSPFv3 on all your routers.
C. You must use OSPFv4 on all your routers.
D. IPv6 routers must continue to use IS-IS.

Correct Answer: B

QUESTION 3

Layer 2 interfaces can be assigned to operate in which two modes? (Choose two.)
A. route

B. access

C. trunk

D. distribution

Correct Answer: BC

QUESTION 4

You want to establish an EBGP peering session with the loopback IP address of your peer router. Which BGP
parameter must be used to accomplish this task?

A. multihop
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B. multipath
C. local-interface
D. local-as

Correct Answer: A

QUESTION 5

MAC = D001 020000
IP= 30104900084

YLAN =10 MAC = 000102000002

1P = 10101020024
WVLAK =10

MAC = 0001020005
IR =10.10.20.2024

MAC = 00:01:02:00:00:03 WAN=E

IP =100 10, T _
WLAN =10 -
hAAG = Q0002000004
1P =10,10.20.10/24
LA =20

Referring to the exhibit, which interfaces will receive a packet sent to MAC address 00:05:85:7F:EB. 80 from the user
with IP address 10.10.10.10?

A. 0/0/3 and 0/0/22

B. 0/0/9 and 0/0/23

C. 0/0/3, 0/0/9, 0/0/22, and 0/0/23

D. 0/0/1, 0/0/3, 0/0/9, 0/0/22, and 0/0/23

Correct Answer: A
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